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14.

Ay 72 B) 88 Cho4a Dy o9
. f"f’ 4 i
' ;5:% . ] f“. !_'
a+l=4 = g+l z 2
3
A} 42 B) 48 C) 50 Dy 52

a¥+b¥=91 abla+D) =84 = a+b="?
A} 5 B6 .Ci7 . D)8

o

A} 27 B} 3¢ Cy47 D) 55

E) 111

B)9

E) 83

w%m%m—%_-m_%% Lt 498 Pt o i L A AT o

18, ¥ -8x+15=A -8 A;B._:?

Ax+1 B)x-3 C)x+2 D)x—6_iEx

17, P+mx+12=(x~2) A = A=?

Ax+6 Bjx-6 C)x+2 Djx-3 Ejx

a*-3a+2

. h=1 ————— =
18 a+b = a+ab-b-1 :

A) ~1 Bla-b Ci2b D)1 E)y2
_..«f’:://ft
A
19. a+c=3,b+2=0=
2rD-C 2 b2 2yone)= e
a+b+c
1
A) B B) -3 Cy1 D) 3 £)
'mx+nyx12
200 Mx+my=8 = Keyz=?
m+n=4 /
A) 6 B)5 )4 Dy 3 E)Z




hapter 4

Carpanlara Ayirma / Factorization Test &
‘ }(6 DR3P - (M2-2)2=2
aa-sa——a2b+9bz? _ ’\1) { =<
-6 +E}x- a’-ab~3a+3b b A) 5 B) X -1 C) x +1
,..a—z-m =y
Aya+3 B)a-3 C)3-a D) %%+ 1 E) 6 (x* - 1)
Dya-9 Eya+9 "
S N wr g !
S P TV S AT
-~ o 4 . 9 j/
- ;\, \/ Ei f . - ‘ o i
: # "
—3 E)x- (61)2-(60)2=? 7 x-2x-3_, o
R B) 241 C) 860 ‘ x-3 S
) 1001 E) 3599 A x=1 W2 | Gixels
D)x-3 . Elx+4
ik e s J;:‘l‘ . - T . ‘ ;:,_‘“u ;___ e b \': E
o
E)2 2 2 o >
& $ b* _» e VO S I Y
a-b b-a 8 a g2 a-1 =9 ’ ..
t+2a+a° o-2° e
A) 2a Bib Cla-b _
a+h Ay — L —a_
boa Eja+b )1+a )a{aﬂ} )aﬂ
o ! oy __i E) a+1
- a-1 a-1
rd 1] (/ b
1 ST
3 El - - %
4 _
(3_2“)-_(14.9_):9 ] ¢
a a ’ e
A) 1 B)a C)b Dia-b ' E 2 ‘ sz
) ) ) o 'b o &-ab+bi-ab® o
a®—2ab + b?
" i a ,;.';hw\
— Ay Bib Cla ~Dja~-b Eja+b
L — o . e
cy X
T'x+5 10, xe R* x-xT=2Y5 = x+% = 7
A) 4 Bi4va C)3v5 D)8 E) 2v6
_—-—-——F_/ /’d
e




k \\V
M. (@x+2% =273 + mx

TAYS4 B)&0  TMO._ D80 150
’’’’’ Mr_;j»‘*"’_. .
12, X~2P X-dx+q e
-8 x*+2x+4 W
-
Pt |
AT 8 x2 .y
D} (x-2)2 E)x+2
24 x- 2
13'x+x6:2x+6y=? |
Xs""e‘ X2+ N+ 4 o
AL
hex B) 5 Crx+3
D) x(x + 2) E) x2 - 2x
Xy,
LI
A X+ g2 B) x* - y? G 8 - y2
X2 y2
o) X~y £) x2 y?

5. (x3+xy+y2+—g»yj—n):(x+——yi-)"?

X-y X-y
A) X +y B) x—y c) X*rY
X—y
2
Dy Y Ey y2

NXx+8 = m+nz2

a'b-ab®  a’-3ab+2b? _
a’h +22b24 ap? 4b2- g2

?

Ala+b B)2a-p Cl-a-2b D)a-3b E)a

3 3
17. m*+minemn?, m*~-n _

- “—l?
m® + mn? m*- p?
Aym-n Bym2 4+ né Cin
D) m Elma+n
is. é3-1sa—azb+16b=?
a°~ab-4a+4b
Ala+4 Bya-4 C) 18
D)a+ 16 E)a®-15
» 3
19, M =7 -
31° - 2¢2
A1 B) 8 C) 27 DjB4 - &) 125




C)15-;

£} 125

H

Tamim : n € Nve x e R — {0} olmak {zere, e h
2. X oxnmm - {(x =0
X X x Ssayising, X sayisiun n'inci kuvveti xm xm-n
R e
n tane
denir. x sayisina taban, n sayisina da {s (kuvvet) denir. Ornek / Example:
(,_2) 13 _ 214
Definition : Provided that n € N and x € R — {0}, the T o3
numbar ¥ = XXX x is called n'™ power of x,
n tane
x is the base and n is the power. Céziim / Solution:
(_2) 3. 214 ”__213___ 2‘{3 ) B 213 (_1 _2)
{ISLO SAYILARIN OZELLIKLERI 218 o gm
PROPERTIES of EXPONENTIALS
XK K X = XD
ntane
xe R-{0} = x0=1
nefR= 0"z "
Ornek / Example:
ne R—{0} =» 1" =1 . 2 a
Y. (2.
0% taimsizdir. / 07 is undefinad. (“2”) (3") -2)* 5
2 (-3f
1' xn . xm = Xm-m 3
Omek / Example: Cozim / Solut
6ziim / Soiution:
9.815. 2437 = 9
~1.8.
Cézim (Solution): 8% _1.8.9.1.1
9%. 813 2497 = 324 . 345 . 357 —4'% 2 27 1_ 4 3
=n8.320, 435
= 3B+20+35 o 362
Orek / Example:
.).(. + vy
42 =4 o
= = w9 Ornek / Example:
2% _ g e [ Al £~ U
Feag 125 )
A B Bl 8 Ci 10 D12 E} 16
Cozim/ Solution:
fey ¢oziim / Solution:
42 =4__~$2x+2yw__4 5x+2)(_5x+3x,5x 8
{2x+2y)-{'2x»~2y}=4.g P4 KX 26 gK 125

oX+RYR-2y = 36
O o ox = 6

Yanit / Answer A

—

X 23
5 (1+2"+3}__8_::)(

K1+ X+ 125

s



Ornek / Example:

—9n-2 3™ _,
320, g-1 agm ’

Coziim / Solution:
'9“-9*2+3m-3-1_9"v3 1
321,3—1 am gn.81 3

3. {x-y)"=xn.yn

Ornek / Example:
a>1,bx>1

'ax—y = p?. g1 }
= Xey=P
Bty - aB.b‘IOI

A) 35 By 27 Cy 21 D) 18

Céziim / Solution:
axy = bg'aﬁ
Xy B 10
LY = b

2. pry. B®. g aB-pic

{a b ¥=(a-by® v
X=—y=19 Fa g

Yanit / Answer b

Ornek / Example:
S8=xve(and) 332 =y = y2= 9
Goziim / Solution:

3a+2=y = 3832 . Y = 33___%
Pzx = (3 2=y
2

-

yi=81x

5, (XM = (xm)n = TN
(@)™ = (a)n™)

an™ ifadesi bilinemez. / The term 2" jg not 4

Ornek / Example:

a,bEZW{O,T}
ab = %m:ﬁbz?
A) 2 B) 4 Cy 6 D)8

Coziim / Solution:

ab=—13— = =73

ab=7"3 = az=7ve(and)b=~3

a+b=7-3=4
Yanit/ An
'x:zo
6. - x" = XM= on=m, (Xﬂ
X -1
Ornek / Example:
(=33 2 (= 3y oy =2
A) 9 B) 8 cy7 D)6 E)

Cozlim / Solution:
Verilen esitigin saglanmas: igin tabar 1'e esit olmal
To satify the given equation, the base must be et
X—=3=1
X= 4
Ayrica, tabanlar ayni oldugundan, dister birbirine st ¢
ar.
Morever since the bases are equal powers mi
equal fo each other.
3X-1=2x+4 = x=5

2X=44+5=z9 :
Yama/AnsW_f

9




10WnN.

Ey 10

Answer |

sit oimaldt
- he equélt

irine egtt oF

&
ywers mis

a=b, n tek sayi ise
If n is an odd number
a =p" =
a=4tb, nreel sayl

ifnis a reel number

G e o

Ornek / Example:

Gozim / Solution:
-3 -3f.2}  af-2
a2=43=>a2(3};4(3)
az47? = a:-lmiw
42 16

Ornek / Example:

;,3».%;-_27 = TaX<?
2‘;-5:
Coziim / Solution:
3. 27 = 3.-2¢=2.27
2o
= 2X=18
16 < 18 <32
24 o X225
d<x<h

S A xTapxM™oc XM XM (g4 b~ )

Ornek / Example:

4-28¥1_3. 0843, g.patl . 9
Cziim / Solution:
S4-22.2_.3.p2.23,.g.0a.02
=2%-(8-24+ 32
=2a.16=2a.24=23+4

Ornek / Example:
(32 + (-39 - (-3%)° 4 (-39) 2= 7
Cozim / Solution:
- (32)5 “ (__32)5 - (__32)5 + (___3*5)”2
= 3104 (-310) - (-310) 4 (310)
=310 310,310, 3102 5. 310

Ornek / Example:
1 ,6,.2

— =

i =64 = x=7
P

2 %2

Coziim / Solution:
1

+ L. 2 _p4
et 2 2
2,86 .8 _ g4
ol S
1654
>
d.g
2

Py m 420 Xx=—2

10, (-aiet=g2n

(_a)2n+1 = —gen+1

{(ne N)

Ornek / Example:
S R N
N2, 1
(2) * -3

Coziim / Solution:

(22423 -B+(4) -8-4_-12

(1_)—2+_1__ (22+2% 4+8 12
2 5-3
Grnek / Example:
)?-3"+ 272
62 o

Coziim / Solution:

AL N I T
{—z}wa—a“uz-?:(z) 3 22 _4 34
6% A 2
g2 36

3-4+3

=12 2 . FBogeg
1 Tz
36




1 (=22 4 (-5)2 (~52) - (~2)3 =7
A)-12 B4 C) 46 D) 62 E) 38

Cozim / Solution:

=-4+425-25-(-8)=4

Yamt / Answer B -

2 (2392
32 )

A} -8 Bja Cy-27 D2y E)o

Goziim / Solution:
i 1

- S

(2% (=32 _ (-3)2
&2 1
32

=8

H {
© |—ch0 =

Yanit / Answer B

3. ()% (a%) - (~a%) . (~ad) =2

A) a® B) —a® C) -a=% D) -a5 E) a3

Goziim / Solution:

(-a)* (@ - (-a?) - (-a*)
a® a*

= .3—3.__1_.{_34):%.__ =53
32 32 32

Yanit / Answer E

=

Goziim / Solution:

ey T ey

Yanit / Ans

Yanit / Answ

3 8
108108

58__56

A) 4 B) 99 C)192  Dy2s4  E)2%t
Gz0m / Solution:

10°-108 108(102-1) 10%.g9
5856 58(52-1) 55.24

12)9,% 06,98
5 24 24

i
?
H
4




nswer

) ~108

iwer

56

an+2“32"n__?
atigd-n
A);— Bja"  Cja Dya=" gaz

Géziim / Solution:

'an+2_a2—n an,az_a2,a-n

ama_aama *an,aa_as,a—n

ha2{an“a—n)
a(a"-a

:az"'”g: at=

| =

Yanit/ Answer A

8 '2,3x+1+3x-—1m3x+2
' 4-3%

=7

Ay~ 2 B) —1 Ci0 Dy 1 E)2

Gézlim / Solution:

2:3%143%1_3x2 2.3%.3,3%x.371_gx.32

4-3%1 4-3%. 37
3"(6+J~—9)
_ 3
- 4
3*. =
3
.8
=2
4
3
=2
Yanit / Answer A
9. 2% ypoxat _ m2%%2 — m=?
Al B 1 cy2 Dy £y 7
8 'z 9% "4 '8

Gziim / Sofution:

2% 2)<+1
oX+2

M=

-2+
2. 22

it
PR

Yanit / Answer

/_,?ﬁ/

10. a, beZ
'83'64—23‘3“ = a+b=?
182
A} B B) 10 C) 1 Dy 12 E} 15
Coziim / Solution:
83'64325_3b=(23)3'24’34:2a,3b

182 34.p2

2 18-2.34-4_nagb
211 .36_pa.3b
a=z=11,b=0
a+b=1
Yanit / Answer ¢
1. (48+7 . 228y (3. 23a) . 5

A) 22 B) c)2 Dy 28

Wi~
o
N
w

1
2
Coziim / Solution:

'4a+1__22a (22)a+1_223
3-2% 3o

222&2_223 - 22&(22_-'}
3-2% Jampe

Yanit / Answer D

12, 23250 = DR2~2.9

AY125 B 250
€&ziim / Solution:

C)500 D) 625

E) 750

22 =50

223-222%'2_22{28)2'—-1—-

Yanit / Answer D




A)2 B} 3
Goziim / Sotution;

Yanit / Answer C

- N
14, > =l==>(i) = 7

-
LT
REY

Yant / Anéwer D

15, 27%=3 = 27-2%+1 =9
C)8 nv E)g

GSziim / Solution:
27%=3
272 X+t 7. 220
=27-(2% 2.2
=27-{(2% 2.2

=54-32

Yanit / Answer B

‘/:‘EQ/

1,44
16, —— =0,000144 = n=7?

0™
A)3 B) 4 C)-4 D)0 E) -

Goziim / Solution:

1% _ 0000144
10
. -2
144-1072 4106
o™

W =10® = —3-n= -6

n=3

Yanit / Ans

17. 32-10"=0,0000032 = n=?
A) 4 B)5 Cy6 Di-6 E)-
Géziim / Solution:
3210 ™= 0,0000032
32-10"=32-10"6

10"=10f =n=-68

Yarnt / Ansv
18, 2X -2t o202 . 084 o x=?
A)3 B) 5 C)6 Dy7 E)é
Coziim / Soiution:
2"««2"*’1«}-2“*’2;384
PX_pX.242%X. 02384
2¥(1-2+4) =384
2% -SE=128
3
2¥=27mx=7 _
Yant / AnsWe




X Goziim / Solution:
%
=3 gr-2.3-3.9 .
1. 4 = (0,008 - (00081)% . . _.
=23.3%.5
)=5 . 33
A) 8 B) 4 o) g D) 2 £) 1
3%1092.(34.109% 3-6.1p%.3%2 .49~
gdziim / Solution: 33 33
X 36.1p-2
2.2 _ X-2 _ -
2912 =3=2"% -3 =
X —2
2-2"=3 =33.{2.5)—3
=12 .
g2 .3 M(QS)K‘E,_'l_ = 23%33.5
T 27 a=-3
= p?*8 e
N 27 b=3 = a+b-C=-34+34+3=3
x3 .6 1 _
aswer 4 =@)e o c=-3 {
_ 12 48 o1 ' Yamit / Answer C
T 64.27  B4.27
Yanit / Answer E
-7
22, abez*
2. Bz=a = (32 =7
Zab _
Aya®  B)4a® C)16a® Dyad  E)a’® a “8\
. = @am?
Goziim / Solution: a=2 f
: rf
nswe - A) 0 B1 G2 D3 54
2oy Coziim / Solution:
3% _ tn 5 3 ,
B2y = (27 abez* ab=2
=(2%3
a®-b-g
—nb
58 =4
} a®®.g0-g
Yamt / Answer D
a23~—1—-r8
ab
22
a
58
21 ab,CEZ {aa)2=16
. G =3. K]
9009 % (000812 _ 3b. 5 i s
33
= a"!'b-—Cg"? a=2
nswell N B o Ly 6 E)e Yanit / Answer C

\
o




23 (-2 “1)4 (-2) -5, (=2 2) =7
(-2) - (-2) "

A) -1 B) 1
Coziim / Soiution:

cy2 Dy 22 E) 27

(224 (95 (=23 2729 (27

(__2) —1,(_2}-6 __2—1.2-—6
2-»4.2-—5.22
Tt
2'-»7
_—Ej
= ~1
Yanit / Answer A
4a+2b=8
24, = b=?
82+ = 18
Tl 1 1 1
Ay — B} — Cy = ~ —
)2 }9 ) 6 D) E) 16
Céziim / Solution:
{22)a+2bE8 {23)a+b;16
22,34,4{;:23 23a+3b:24
2a+4bh=23 3a+3b=4
-3/2a+4b=3
2/3a+3b=4
—6a -~ 12b=-8
+ 6a+6b=8
~6h = ~1
b=1
8

Yanmit / Answer C

SRR

Ay 9 11 18 23
A) - By Ll 12 23
)14 )34 ©) 14 D)M E
Coziim / Selution:
l 1 2]
- -1
L ] [o-
2 2 9
(5]
19
=9
14
Yarut / Ansy
-3
A
26 = ?
12
)
A) ~1 B} 1 C) 64 Dy -84 E)-
Coziim / Solution:
(1) 3 2
-1 29%_(.3
( 2) ( )_—~23~2ﬂ3+9
1}° 1
R
2—1+9 :iz_&
LA
8 8

Yanit/ Answe

2%=2a
27, = §%¥z?
3¥=h
A)a® - pe B) a¥ - b* c) &
D) ab E) g* yp
Géziim / Solution: ;
2X=a
3Y=h
6 = (2 3)%=2%.3%
=@% - (an
=aY - bX

Yanut / Ans

/:i/




wer 4

wet [

3¥

cyz2-?

D) 2% E)y 2%

(YOS 1991)

Goziim / Solution:

2144 2%240% 2.(2%.p

24y 2 2%4 2 2X4 2
=2
Yanit / Answer B
2, 2X=a
22(x+2) =9
A)i B)i Cy22 D22 pyo%
48 2&
(YOS 1992)

Gozlim / Solution:

2=a
o olX+2) - 22)(_22
= 2%

Yanit/ Answer E

S -@24(=2)34(-4) 227

Al~17  B)-i5 Cy-2 E} 15

(YOS 1893)
Sziim / Solytion:
~(3P+ (-2) %4 (@) 2= 08+ 16

=1
Yanit / Answer O

4. 3&-1zqp
3x-1=2
A2 B) 4 Ci6 D)8 E) 10
(YOS 1093)

Coziim / Solution:

3o qp o, a3 40

(3% 2=38
3*=8
1
X To 3. L
3
=61
]
=2
Yanit / Answer A
5  3%lzg
o
A) a2 B)as Ci3a® Dyga? Eg7ad
(YOS 1083)

Cozim / Solution:

3*'sa = F=z=2a
20X (3% _(3%° _(3a)° _27a®
9 ¢ &g 9 T3

=3a?

Yanit / Answer C

47-10~6

—_— X=7
0,047

= 10)( =

A} -4 B)~3 Cy-2 D) -1 E}0

(YOS 1995)
Cozlim / Solution:

47-10°%
471072

= 10" = 104 = 10X 2o x=—4

Yamit / Answer A

/:é-—;’—/




7. (xy)n—4 - 2 1 - ?
(xy) " x*y?
A} 1 B) 2 cya D)V2  E)V3
(Y6s 1995)
Gozim / Selution:
n—4
(XY) =2=>(Xy)n—4—n 2
{xy} "
(xy)"*=2
L
(xyy*
LI 2= ! = \/E
% 4 y 4 x72 y 2
Yanit / Answer B
8. L. 5 = g¥iz2
S—K
A)144 B)169 C)175 D)200 E)225
(YOS 1997)

Coziim / Solution:

A28 = 3%=5
-x

9x+‘i=(32)x+1

=32x+2
=32X_32

={3%2-9=5%2.=225

Yanit / Answer E

Cdzim / Solution:
3P zog3

W(QS)X“3=35

(2)(—3}5:35

2% =24
2x+‘{= 2)(2

=24-2=48

Yarut / An:
10, 2%4 4 2%+, OX 5 304
= X=7
A) 3 B) 4 C)5 D} 6 £}
(v
Cozlim / Solution:
OX.244.2%X. 040X 304
2X(16+2+ 1) =304
2%-19 =304
2X=16=2%
X=4&
Yamit / Ant
T x? =45 = x™* =2
1 1 1
—  B)— - D5
) 125 ) 25 ©l S )
(Y08

Coziim / Solutien:

T

X

9. 32%%=243 " o »
ws DXt 8 X ={x"} :(\{—5—)
A) 16 B) 29 C) 36 D) 48 E) B4
(vOs 1998)
o

109




iswerl

D7
1S 2007

nswerk

=F4

b o0t

newe!

12. 0,00758 = 75,8 - 10-2
A) & B5 C)4

¢éziim / Solution:
758 -10*% =758 - 1072
104 = 102
4=a

13, 1512.625¥ =312 = x=?
A}~ B Bj-5 )-8

Coziim / Solution:

312. 512. gdx - 312
5(12+4x) =1=50
12+ 4x=0

X ==3

4. 2‘4(25 + 26) -2

A)e B4 C)6

Gézim / Satution:
27405 4 2408 -5, n2
=2+4=8

= am=?

D)-5 £)-6

(Y6Ss 2004)

Yanit - Answer C

by-2 E)~1

(v{is 2004)

Yanit - Answer C

D)8 £) 10

(v$S 2005)

Yanit -~ Answer C

—

B s 1
3.8 .3 &
X="7
A) -2 B) -1 C) 1 D)2 Eya
(YOS5 2005)
Goziim / Solution:
o
-———v—-——-mm(s) :-mj-—*:::' 81=3%
3¥ .33
34 «7-32’:
= 2x=4
X=2
Yanit - Answer D
16, x=0
’ 2 2
ax" ) _ x" o
xbﬂJ 2X._1'j
A2 B) 4 C) 2x
D) 4x g 4
X
(¥0s 2008)
Gozim / Sohution:
4xa\2 X \E ' -
sl
_ JBXza ‘ X?b
xawz 4.)(23-2
:4'X2a—2342xa)-2bw2
=4.x x" =4
Yanit — Answer B
24 7, Ad 22\
2 (3 -3
17. -
22 11 11 =7
6°(3 +1{3 -1
A) 2 B)3 C) 4 Dy5 E) 6
(YOS 2007)

191



Coziim {Solution):
‘ 224 (344 __“322 )

224 _322 (322 ......1)

2@ +nE" -1 2% 3% (3% )

_ 2% —0¥2 52 4

- 222

Yarut / Answer C

x+1 X

18 5 =10

i
4.5 =7

AYS B) 10 C)2b D) 50 EY1060
(Y$s 2007)

Caziim / Solution:

BX+1 2 10% = 5% 5= 10

X5,
KR L
4* .5x =(2%)*.5%
=5%.2=50
19. a-2b=4
2&
42b =
=b="?
‘ 1
-1 By ——
A) =3

Coziim / Solution:
a-2b=4 = a=4+2b
2° 2

421)

a4 _26

o4

a—-4b=6
4+2b-4b=6

w2hz2=b=-~1

A
X

2z 5
Yantt / Answer D
1
C)o Dy— B
2
(YOS 2007)

Yanit / Answer A
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T

B&lim / Chapter 8

et e e A S A S LAl Al b b et

=020 _,
(~4)*

Yanit / Answer : -%

2, X=—4=

4 2xm1 , s 2x-1
24 JIx+d =

Yamit / Answer : 24
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